Feedstock

1 message

Mike McDonald <mike@rosedeer.com>

Sun, Jun 11, 2017 at 4:16 PM

To: James Tansey s.22

James

Confidential

Here is some draft material. Very rough. There's a lot more to review in coming days.

Mike



Page 02 to/à Page 08

Withheld pursuant to/removed as

RE: 4 ideas

1 message

James Tansey 5,22 To: Neil Sweeney s.22

Mike McDonald <mike@rosedeer.com>

Tue, Jun 13, 2017 at 9:50 AM

Neil and Mike

Four ideas for the Throne Speech.

James

W

Throne speech proposals.docx 139K

Page 10 to/à Page 12

Withheld pursuant to/removed as

RE: my humble offering

1 message

James Tansey S.22

Tue, Jun 13, 2017 at 11:59 PM

To: Mike McDonald <mike@rosedeer.com>

Cc: Neil Sweeney s.22

This is how I would start a throne speech if it was up to me.

James



Page 14 to/à Page 15

Withheld pursuant to/removed as

Fw: Carbon tax

2 messages

Neil Sweeney s 22 To: James Tansey s 22 Wed, Jun 14, 2017 at 2:34 PM

What do you think of this track?

From: Neil Sweeney \$.22 Sent: June 14, 2017 3:40 PM To: Mike McDonald; John Paul Fraser

Subject: Carbon tax

s.13

James Tansey s 22 To: Neil Sweeney S.22

Wed, Jun 14, 2017 at 2:39 PM

Neil

Happy to chat.

James

On Jun 14, 2017, at 2:34 PM, Neil Sweeney \$.22

wrote:

What do you think of this track?

From: Neil Sweeney \$.22 Sent: June 14, 2017 3:40 PM To: Mike McDonald; John Paul Fraser

Subject: Carbon tax

Fw: housing

2 messages

Neil Sweeney s 22 To: James Tansey s.22 Wed, Jun 14, 2017 at 2:35 PM

disaster check please...

From: Neil Sweeney s.22

Sent: June 14, 2017 12:21 PM

To: John Paul Fraser; Mike McDonald

Subject: housing

Housing

Your government recognizes the challenges with housing affordability—especially in the urban areas of our province. We have already taken steps to cool the market by introducing the Foreign Buyers Tax and increasing the Property Transfer Tax for luxury homes.

Last year we invested \$900 million into building new affordable housing across the province—which was the single largest housing investment in provincial history. These new units will begin coming on stream in the coming months and reduce some of the waitlists that exist for affordable housing in BC.

Today, your government is announcing new measures it intends to introduce to improve affordability and home supply.

s.13,s.16

James Tansey s.22 To: Neil Sweeney s.22

Wed, Jun 14, 2017 at 2:50 PM

Neil

No obvious disasters.

s.13

James

[Quoted text hidden]

James Tansey One Ton Consulting Inc.

s.22

To: The Province of British Columbia PO Box 9041, Stn Prov Govt Victoria, BC, V8W 9E1

> Invoice number: Date:

2017-PROV-1 June 28, 2017

Services performed June 14-28th 2017

Nature of services: Provide policy advice in such a form as the Province may request related to innovation and clean technologies.

Period	Item	Rate	Units	Fees
14th June 2017	Fees	\$175	8	1400
15 th June	Fees	175	5	875
16 ^h June	Fees	175	6	1050
18 th June	Fees	175	4	700
20th June	Fees	175	3	525
			Sub total	4550
			GST	227.50
		TOTAL DUE		4777.50

Please complete payment by cheque payable to One Ton Consulting Inc. to the address above or by wire transfer to the same payee:

s.22

Bank name and address: